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NOME: TURMA:
PROF: LUCIENE ZAINE GONCALVES

Ol4, vamos praticar um pouco de
POTENCIACAO!!!

R 1) (+5) = k) (+31)° =
b ¢) (+7) = ) (-9)' =

‘ d) -11)*= m) (+2)* =

& e) (-5)° = n) (-7)* =
& N (-3)'= 0) (-9)* =
g) (-1)°= p) (-17)° =

h) (-2)* = q) (-35)' =

D (9= r) (-1)* =

2 g o 2 g



2o £ 0 F20 520 T2 R0 T2 0 20 T e 0 T e T e e

2) O numero -15 é menor que -3. Sera que podemos dizer que (-15)* é menor

que (-3)*?

SIM NAO

b) (-5) . (+6) — (-3)* = -39 48 28 & '

@ ) (8y:(-16)+5= 2 1 1
o 2
& d) (-6)° + (:3) + (:2)° . (-1) = 15 19 18
& ¢) 3 - 42 - (-2). (-4) = 25 15 10

DI~ 6T)(-0)= 07 -06 05

2 g g

2) (-4 -1(-8): (+2)]*- 6 = -25 -26 27

&
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h) (+20) : (-1)* =22+ (-2)°: (+2)* - 5°=

g@ i) (-576) : (-12)* - (-125) : (-5)* = 0

% DY +E3)= 1

& K) (-3)° - (42)* . (1) = 35
& I)(-3+7):(5+3)p= 21
m) (-2 : (-8) = 0

2 - 5

0) (-5+ 1)+ (H) - (-1y° = 24

P) (2. (3 - (-5 . (-D)*= -100

q) (-6)*: (-3)*-(-2+1).(-2)*= -3

OBA!!!! TERMINEIL.

ENVIAR PARA A PROFESSORA
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